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Q-1  Choose correct answer [10]
1. programs made available in a ROM on the hardware are knownas

(A) Firmware {C) System Software
{B) Assembler (D) None of these.
2. FORTRAN is a language
(A} High Levei ‘ {C) Low level
(B) Medium (D} None of this,
3. is one of the benefits of using network.
{A) Peripheral sharing (C) protection from virus
(B) file security (D) None of these.
4, DOSisa Bit Operating system,
(A) 8 (€) 32
(B) 10 (D) None of these.
5. GUlis an abbreviationof
(A) Graphical unit interface. (C) Graph:cal unit intet
{B) Graphical output, {D) None of these.
6. If a server stores data files for users to access it is commonly
calted )
(A) File server. {C) Application server,
{B) Data server (D) None of these.
7. In star network all devices are connected to
(A) Hubs (C) Router
{B) Ethernet {D) None of these.
8. DSL is a abbreviation of -
{A) digital subscriber line (C) Digital server line
(B) Digital seyvice line {D} None of these..
9. Modems speed is measured in _
(A)Kbps {C) Mbps
{B) Gbps {D)} None of these.
10. ATM is network for LAN & WANS,
{A) system (C) protacol
(B) data {D} None of these.
Q-2
{A}  Fillin the blank 4

1 Assembler has ________correspondence,

2 Full form of GUI is’

3 The Internet is a network of

4 Telephone wire transmits signals.

(B) State True or False 4

1 Modem speed is measured in Kbps.

2 To create a wireless LAN WAP is required,

3  Cable modem downioad speed is one hps.

4  transmits A Fiber optic cable light signals.

Q-3 Short answer type gquestion. {any ten) [20]
1. Explain in brief Application software.,
2. Explain in brief System software.
3. Draw the block diagram showing relationship between hardware, software and
user.
4, Explain Today and yesterday’s operating system.
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What is Firmware?

List features of Windows XP that has been upgraded.
List different types of embedded operating system.
What is NOS, State its one application.

What is network and state its importance.

Explain ATM.

What is internet? :

List various types of hybrid netwark,

Answer any four out of eight questions (32}
Write a Note on Machine language.

Write a Note on compiler.

Write a note on DOS.

Explain Windows 9X in detail.

List different use of network and explain any two in detail.

List different types of Network Topologies. Explain any two with suitable diagrams.
List different methods for connecting to internet and explain any two in brief.

Explain Modems in detail.
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